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10th- (Mathematics) @
LO Based NAS Questions-2021-22 -
WEEKLY REVISION ASSIGNMENT-11

1. A9d € FaI' € I @A FHTD Ry W3 R, IT € U3ISH T HF 9d © H3ISH ©
gJrgd J< fHA T wigy fenrH RI= 3

If the sum of the areas of two circles with radius R; and R, is equal to the area of a
circle of radius R then

(@) Ri+R2=R  (b)R:?+R2=R> (c)Ri+R:<R (d) R?+R;*<R?
2. fIR 99 © & TEUT I WA ST f8d THI & g9% &l | I3 Tedhud frA © Ust &
BEH 25 AH I W3 115° © d€ 39 WH 3 ACE 9 AaT J THUI © I9F 97 &5

)

fier 939es Ae J 7w J 89 u3T 3|

A car has two wipes which do not overlap each wiper has a blade of length 25 cm

sweeping through an angle of 115° the total area cleaned at each sweep of blades is :

153125 5 158325 ., , 158425 5 158125
(a) T HH2 (cm?) (b)—12l5 HH2 (cm?) (c) 26 HH2 (cm?) (d)—12l5

3 eI Sag R TR IUI T U3ISB UST g A = Wgr 22 AH I |

HHZ (cm?)

Find the area of a quadrant of a circle whose circumference is 22 cm .

(a) % AH? (cm?) (b)? HH? (cm?) (c)? A (cm?’) (d)g M (em’)

4, IJs foimit & fagdt Az Aftmr 3 2

Which of the following is an even number ?

(a) 2qg+1 (b) 4g+3(c) 2q (d) 6q+5
5. Ufgsh 11 YfIf3a Hftmret & HoHs &t 3 2

What is the mean of the first 11 natural number?

(@) 6 (b) 7 (c) 6.5 (d) 7.5
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6. 5,15,20 TB.HI WIHAS. T WU I ?

What is the ratio of LCM and HCF of 5, 15,20 ?

(a) 9:1 (b) 4:3 (c) 11:1 (d) 12:1

7. AT (x -1) AT ST ax? + ax + 3 W3 x’+x+b=0 T A" JTE6HS

If (x -1) is a common factor of equation ax?+ax + 3=0 and
X¥*+x+b= O0then ab=......

(a)6 (b) 3 (c) -3 (d) 7

8. AT AHTATE (b-c)x* + (c-a)x+(a-b)=0 € HS IIET
J= 3 ;
If the roots of the equation (b-c)x* + (c-a)x+(a-b) =0
are equal then
(a) 2a=b+c (b) 2c=a+b (c) b=a+c (d) 2b=a+c

9. A wiafanf HoH's 75 w3 Hftar 60 J=2, 37 SgS I Al J=4T ?

If the mean of data is 75 and median is 60 , what will be the mode?

(a)30  (b) 105 (c) 330 (d) 150

10. If sinA=\712 and cosB =1 then sin(A+B) = .........ceeu.
Hag sinA=712 W3 cosB=1 T 37 sin(A+B) = woue ...

W

(a) 0 (b) 1 (c)2 (d) none of these ( &37/ed ¥ 3d7)

g 931 : wifi{3Ag Ha
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